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2014EE 20la FXHE S|
o200 M2
B 210 FATALSLY
211 ALY (£ @ e )
T.ou-g-2 Ol & 24 & A & Of ko HI D5 2t
z o 4,348,924 3,980,760 368, 164
200 AI2l 42 3,948,924 3,650,760 298, 164
210 ZAE ML 1,592,924 1,394,760 198, 164
211 THAH I CH 4 ) 1,072,204 888,632 183,572
211-02 ZRMMLHE 1,072,204 888,632 183,572
<DEHFDY > 1,072,204 838,632 183,572
OBRM fA=r2el 1,072,204
MBI TEY CNBYERE 126,700,000 /2 63,350
NH=NR(LRAS) =4BSFHE 78,650,008 /214 39,325
AN (BES) =4 BSFUE 142,700,000 /244 71,350
SARENBEY S NBYEIE 48,500,000%! /24 24,250
NH2E CASHRBATHE 91,344,0002! /2 45,672
NH2E SH3SY SAZAFUHE  21,800,0008 /24 10,900
NBHIHEZSMLSN SABAFHE 26,000,008 /244 13,000
ZYUSIHOIME & =ABHFUEY 54,040,0002! /2 27,020
SARYEI LYDYENE 33,800,000 /24 16,900
 HE2E SABYFNE 55,550,000 /244 27,775
S5E LATYFNE 399,666, 490% /214 199,833
SFENZE =QBYFE 34,628,000 /24 17,314
NBIYNACT AT 132,000,0002! /2 66,000
BYUS CABYENE 104,200,000 /24 52,100
ZYS=E CABYEMNE 582,668, 900% /214 291,334
OIS 2228 =BT 24,700,0002! /2 12,350
CHH2S QDY FRE 86,400,000 /2 43,200
ABED CADYENE 68,400,000 /2 34,200
LH2S CADYFANE 32,662,0002! /24 16,331
212 AEE4Y 510,720 496,128 14,502
212-08 JIEFAIE 2 510,720 496,128 14,502
<DEHFD > 510,720 496,128 14,502
OFANMESEINEZ ASE 1,400 %40, 000! +80%+05%+ 12 510,720
216 Ol Xh4 &) 10,000 10,000 0
21601 22301 M+ 10,000 10,000 0
<DEHHDY > 10,000 10,000 0
O2BZH2 oX 10,000, 0002 10,000




200 Al2l=+=¢
220 SAIHAN LA+

09 i 0

223 JIEt==¢ (Sl &&)
Z2-2-8-5 Oll &F o & E 0l At Hr&E2
220 SAIHA 2+ 2,356,000 2,256,000 100,000
223 JIEt=¢ 1,506,000 1,556,000 /50,000
223-03 WA= 1,500,000 1,550,000 250,000
<uSHIY > 1,500,000 1,550,000 A 50,000
= - IXeE BEHZE 1,500,000, 000& 1,500,000
223-09 2 =+¢ 6,000 6,000 0
<usEFHY > 6,000 6,000 0
o2 =¥ 6,000,000& 6,000
224 XA === 850,000 700,000 150,000
224-01 AHtAE =g 850,000 700,000 150,000
<NSHIY > 850,000 700,000 150,000
OXgtEE =g 850,000, 000& 850,000
700 EMUSHUE AN 400,000 330,000 70,000
710 B8+ S 400,000 330,000 70,000
11 A3 400,000 330,000 70,000
711-01 =MAHLAH=S 400,000 330,000 70,000
<NsSHIY > 400,000 330,000 70,000
O&=MA d0= 400,000, 000& 400,000




